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QUESTION 1

Application APP_A is performing updates to table TAB1 using the cursor stability (CS) isolation level. If application
APP_B wants to retrieve all rows from table TAB1 without waiting for application APP_A to finish making updates, what
isolation level must application APP_B use?

A. Read Stability (RS)

B. Repeatable Read (RR)

C. Uncommitted Read (UR)

D. Cursor Stability (CS)

Correct Answer: C

QUESTION 2

Which statement is true regarding constraints?

A. A table can only have one unique key constraint.

B. A table can have multiple primary key constraints.

C. Informational constraints tell DB2 what rules the data conforms to, but the rules are not enforced.

D. Foreign key constraints are enforced on the values within the rows of a table, or between the rows of two tables, by a
unigue index on a foreignkey.

Correct Answer: C

QUESTION 3

Given the following statements:
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CREATE TABLE employee (empid INTEGER, info XML);

INSERT INTC employee WALUES (1,
employeeinfo=
zname=xJoe Smith=/name=
<gdepartment name="DB2"=
<team=0Development</ieam:=
zfdepartment=
</employeeinfo="),

If the following XGuery statement is executed:

HAUERY
for finfo in db2-fn:xmlcolumn{'EMPLOYEE INFO" Yemployeeinfo
return $info/name

What will be the result?
A. Joe Smith

B. Joe Smith

C. Joe Smith>DB2

D. Joe Smith

Correct Answer: B

QUESTION 4

What are INSTEAD OF triggers used for?

A. To update data in other tables.

B. To perform insert, update, and delete operations against complex views.
C. To check or modify values before they are actually stored in a database.
D. To run non-database operations that are coded in user-defined functions.

Correct Answer: B

QUESTION 5

When a COMMIT statement is executed, what happens?

A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.
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D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D
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